
















In[1]:= gam0  fn;

gam1  fn  fnm1h;

gam2  fn  2fnm1  fnm22h^2;

gam3  fnp1  3fn  3fnm1  fnm26h^3;

xnm1  xn  h;

xnm2  xn  2h;

xnp1  xn  h;

In[8]:= p2x : gam0  gam1x  xn  gam2x  xnx  xnm1;

In[9]:= p3x : gam0  gam1x  xn  gam2x  xnx  xnm1  gam3x  xnx  xnm1x  xnm2;

In[10]:= p3xn
Out[10]= fn

In[11]:= p3xnm1
Out[11]= fnm1

In[12]:= p3xnm2
Out[12]= 2 fn  2 fn  fnm1  2 fnm1  fnm2

In[13]:= Simplify2 fn  2 fn  fnm1  2 fnm1  fnm2
Out[13]= fnm2

In[14]:= p3xnp1
Out[14]= fnp1

In[15]:= Integratep3x, x, xn, xnp1

Out[15]=
19 fn h
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Mathematica code

xnm1 = x_{n-1}
xnm2 = x_{n-2}
xnp1 = x_{n+1}




